

http://www.mahendras.org/

© SBI CLERK 2022

REASONING



http://www.mahendras.org/

UPCOMING ONLINE BATCHES

June 2022

01 June 2022 08 June 2022 15 June 2022

08:00 AM to 10:00 AM 01:00 PM to 03:00 PM 05:30 PM to 07:30 PM

BANK ONLINE LIVE CLASS BANK ONLINE LIVE CLASS BANK ONLINE LIVE CLASS

03:00 PM to 05:00 PM 07:30 PM to 09:30 PM 10:30 AM to 12:30 PM

SSC ONLINE LIVE CLASS SSC ONLINE LIVE CLASS SSC ONLINE LIVE CLASS

BILINGUAL BILINGUAL BILINGUAL

@Q www.mahendras.org X 7052477777/7052577777



http://www.mahendras.org/

P\ SBI CLERK 2022 EE™ at 11:30 AM
% ghiﬂk;$o$i3l1GU’sago
O

debasish chakraborty 2 hours ago

1. Option ¢ e
2. Option d 1. RGKHJ |
2. VZUXYW
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HW2) V>Z(35)>U=X>Y>Z.
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6.Five boys were climbing a hill. J was following H. R was just ahead of G. K
was between G & H. They were climbing up in a column. Who was the second?
9T JI% U YgIsl W ¢ 1§ A1 J, H FT HTEI0T I W@ A1 R, G F &F 30T 41l K, G 3R
H & dr & o1 § o Sfow & 39 9 @ oA qET et 4T?

(A)J

(B) H

(C) K

(D) G

(E) None of these
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There are six boxes U, V, W, X, Y and Z in a room, each
having a different number of toffees. X has more
toffees than only 2 boxes. U has more toffees than Y
but less toffees than Z. U has more toffees than W but
less toffee than V. Y is not the box which has the
lowest number of toffees. V doesn’t have odd number
of toffees. The box which has 2nd highest number of
toffees has 35 toffees. Tah HAT A o0 CIC2:) u,v,
w, X, Y3R z8 O9dH & 9% A 3rAT-31eeT
TEAT # CIMhAT &1 X I shad 2 FFdT &
3% ey 81 U 99 YH 38+ eifthar §
U & Fftw <

fogs ey fY g&ar 99 FH g1 Ve 9 A
EIT # Ifhar AT &1 99 3 & aifthat &y
qadl a9 8w WEAT 8, 3WA 35 cifhaAT Bl
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If the box X has 27 toffees, then what will be the
possible number of toffees U have? A. 37 B. 38 C.
28 D. 24 E. None of these

. If Box W has 5 toffees and Box U has 5 times
toffees of Box W then what will be the possible
toffees does Y have? A. 26 B. 29 C. 27 D. 14 E.
None of these
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Ramya bought five sweets with different
weights. The weight of Jalebi is more than the
weight of Jamun. Ramya bought 5kg of Mysore
Pak which is the lowest weight among other
sweets. Two sweets are weighed in between
Halwa and Ladoo which is less weight than the
Jalebi. She bought 25kg of Jalebi. TFAT o 3T l9T-
AT aoiel aﬁr grg Aersar @il sreE &1
qc|o1 ST & dold W SIIET gidar §. a0
5 fral AT aTF wlheT N e ot
:ﬁr m FH I &1 goaT 3R o33 & o
& &) eEal ad S § oY SN F FA
golel #T gl &. 3T 25 fFal Fadr @l
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How many sweets are more weights than Ladoo?
a)2b)3c)1d)4e)None

If the sum of the weights of Jamun and Mysore
Pak is 25kg, then what is the sum of the weights
of Jamun and Jalebi? a) 50kg b) 40kg c) 45kg d)
35kg e) None 5) As many sweets weight is more
than Halwa is same as less than____ ? a) Ladoo b)
Mysore Pak c) Jalebi d) Jamun e) None of the
above
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There are six persons M, N, O, P, Q and R of different weights. N is heavier than only R. Two persons
are either lighter than Q or heavier than Q. P is heavier than M but not the heaviest one.

—qﬁ‘chNopqaﬁTRmmaa?r#%%lNWR#W%Ia’r—QﬁT—rma’rQ#
geh e AT QU A &1 pMA HY & AfhaT gad 0y €T 2 | |

If M is heavier than only two persons than what is the
position of Q? a) 2nd heaviest person b) Heavier than M c)
3rd lighter person d) Lighter than M e) None of these

Who among the following is heaviest? a) Qb) M c) Nd) P
e)O

If the weight of N is 45kg then what may be the weight of
R? a) 60 Kg b) 48 Kg c) 56 Kg d) 90 Kg e) None of these
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Five cots-Cot-1, Cot-2, Cot-3, Cot-4, and Cot-5 have different lengths. The length of cot-1 is more than the
length of cot-5 which length is less than cot-4. The length of cot-2 is the least among all. The number of
cots which length more than cot-1 is same as that of less than cot-3. The length of cot-3 is 140cm. qrT
gle-le-1, @le-2, e-3, ®e-4, 3T @e-5 Y dd1E -39 gl cot-1 T TS cot-5 FT JIaS
¥ J0F T WA d9E cot-4 T FH &1 We-2 i dare gt & ga@ s ¢ @re-1 ¥ 3f%F
odl @R T TE&IT, Wre-3 ¥ FH $I @Rl HT TE&IAT & A gl cot-3 T T 140cm B

How many cot’s lengths are more than cot-5? a) One b) Two c)
Three d) Four e) None

If the length of cot-1 is 190 cm then what may be a length of cot-
5?a)195cmb) 120 cm c) 180 cm d) 200 cm e) 135 cm
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Six persons with different monthly salaries are arranged in
descending order as per their earnings. Surya earns more
than Kunwar but less than Anil, who does not earn the
highest salary. Manoj earns less than Yogita but more than
Lalit who doesn’t earn more than Kunwar. Surya earns more
than Manoj. Manoj does not earn the 2nd lowest salary. The

second highest and third-lowest salaried persons earn RS.
60000 and 40000 respectively. 3eIT-37A9T ATRAS dAdeT
aiel B SAFadl P 3dh FAS & HTAR HANE FA
# sgafdyd fHar Srar 81 93 Fa @ AfoF Afda
AT & FH FATCET g, S I8 AP ddeT A1 Hford
HIAT g1 FArT Gifrar ¥ F7 dfraT afed @ s
FAAT ¢ N FaX & 30w 78 FaATT 31 GIAT 7S @
HTH FATAT &1 FAYST GE FAW A A AL IATor
FIAT 81 G Ha8 ST AR AW wa@ w1 adqarenh
IfFd IRTH FATT &1 HAA: 60000 31X 40000]
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Who among the following person earns the
highest salary? A. Yogita B. Manoj C. Lalit D. Anil E.

None of these

If the difference between the salaries of Lalit and Anil is Rs
30000, then what will be the sum of monthly salaries of

Manoj and Lalit?
A. 59000 B. 70000 C. 57000 D. 52000 E. None of these

Who among the following person earns just less than Anil?
A. Kunwar B. Manoj C. Surya D. Lalit E. None of these
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There are eight persons namely M, N, P, Q, R, S, T and U sitting in a circular table but not
necessarily in same order. All of them face towards the center. They are sitting in such a way
that each person maintains equal distance from immediate neighbors. There are two persons
sitting between M and P. N sits third to the left of U. Only one person sits between N and R.
There are two persons sit between S and Q. U is not an immediate neighbor of R. T sits
immediate left of R. M is immediate neighbor of S. P is not an immediate neighbor of Q. Neither
N nor T sits opposite of M.

375 SIfFT YT M, N, P, Q, R, S, T 3R U T TATHR AT W 43 8 aAfdhet ST o161 foh SHI HA A
ﬁlmaaﬁwwaafrm%lagamﬂﬁ%ﬁ:mwﬁ?rﬁmmﬁmﬁ
AT @A I M 3R P HF AT AT IS EIN, UF TT I N T W ISR N3 RF AT
mw—qﬁ‘cr*q‘ar%lssﬁtqé?aﬁira—qﬁ-?rﬁ%%l U, R &T fdsredd qsiiY A1 &1 T dchrer
dor ggﬁl M, S FT [AFecdT T21HT g1 P, Q FT AhecadA TS AT 81 AN IRAHNT, M &
Rada |

F=156

e -
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There are eight persons namely M, N, P, Q, R, S, T and U sitting in a circular table but not
necessarily in same order. All of them face towards the center. They are sitting in such a way
that each person maintains equal distance from immediate neighbors. There are two persons
sitting between M and P. N sits third to the left of U. Only one person sits between N and R.
There are two persons sit between S and Q. U is not an immediate neighbor of R. T sits

immediate left of R. M is immediate neighbor of S. P is not an immediate neighbor of Q. Neither
N nor T sits opposite of M.
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37. How many persons are sitting between S and R
when counted from left of S? S& a1 ¥ [{Aleda WX

s 3R RF AT frda afea ¥ &2

A.2 B.3 C.5 D.6 E.None of these

38. Who. sits second to the left of U?
UF a0 & qEY T 9T FieT doT 87
A.M B.T C.N D.S E.None of these

39. Who sits opposite of P? P & faaila &l dor 82
A.R B.U C.N D.Q E.None of these

40. Who sits second to the right of Q? Q & o
?,'grt YA 9T HleT o7 872

B.M (off )\ D.P E.None of these
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6. Statements: 7. Statements:

R=T=V<F, N=L>F X>H=C<W, G>C=Y

Conclusion: Conclusion:

I).N <V
II). L > R

I).W>Y
II).H > G

8. Statements:
a) If only conclusion | follows. A=B>C=D>T=V

b) If only conclusion Il follows.

c) If either conclusion | or 1l follows.

d) If neither conclusion | nor Il follows.
e) If both conclusions | and Il follow. II).C>V

Conclusion:

I).A>D
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9. Statements:

Only a few Maida are Bread.

No Bread is Cream.

All Creams are Cakes.

Some Cake is Wheat.

Conclusions:

I. Some Maida is not Cream.

II. All Wheat can be Bread.

10. Statements:

All Bags are Jute.
Some Bag is Silk.

No Silk is Saree.

Only a few Sarees are Cotton.

Conclusions:

I. Some Jute is Cotton.

II. No Cotton is Jute.
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A certain number of persons sit in a straight row facing north direction. X sits fifth from the
left end of the row. U sits exactly between X and S. Not more than two persons sit between
X and U. T sits second to the right of S. T doesn’t sit adjacent to U. The one who sits third to
the right of U sits fifth to the left of V. Four persons sit between T and W, who sits third to
the left of Y, who sits third from the end. More than four persons sit between U and Z, who
sits second from one of the extreme ends of the row but not an immediate neighbor of Y.

U AT §&aT A Iafed 3o R A 3R 7@ F v A gfFa A dsa g xaFa s
a0 B8R A gad T W dsrd| U, x 3R s Fde A et xR u s o da g s
FAFTTG IS T T, S F I A qEY FUT WAST B 1 T, U & e A o181 U & g F e
TYTT G 33T AT T TYHA W AT VF TR TIRWF AT IR AT g Y &
I U AR TATH W ABT &, S 3 @ R TUHT W a1 8| U 3T 2 6 AL 9aR 4 31
wﬁrﬁﬁ?éﬁdﬁ%ﬁﬁnﬁwﬂﬁwﬁ#w?ﬁmwh%mvmﬁw
g1 |
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A certain number of persons sit in a straight row facing north direction. X sits fifth from the
left end of the row. U sits exactly between X and S. Not more than two persons sit between
X and U. T sits second to the right of S. T doesn’t sit adjacent to U. The one who sits third to
the right of U sits fifth to the left of V. Four persons sit between T and W, who sits third to
the left of Y, who sits third from the end. More than four persons sit between U and Z, who
sits second from one of the extreme ends of the row but not an immediate neighbor of Y.
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21. Who among the following person sits between Z and S?

farafaf@d & @ i 23X s& #Aeq do1 87
a) V b) X c) U d) Both (a) and (b) e) Both (b) and (c)

22. Who among the following person sits in the middle of the
row?

ffaf@a 7 @ #la affa & 7 & o1 82

a) S b) T c) The one who sits immediate left of T. d) V e) None of
these

23. What is the position of V with respect to W?

W& Heedl & VI T FIT 87

a) Immediate left b) Immediate right c) Second to the right d)
Second to the left e) None of these
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24. How many persons sit to tI:le left of U?
UF T fFaar cafea 38 &2

a) Five b) Six c) Seven d) Four e) None of these

25. How many persons sit between Z 9nd S?
Z3T s& ALY fhaa afdd 36 872

a) Six b) Four c) Seven d) Eight e) None of these
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Nine persons P, Q, R, S, T, U, V, W and X are sitting around a circular table but not necessarily in
the same order. Some of them are facing the center and the remaining are facing opposite to
the center. All the persons are sitting at an equal distance between them. U sits third to the
right V. Two person sits between U and T who faces opposite to the center. Neither V nor T is an
immediate neighbour of P. W sits second to the left of P who faces the same directionas T. Q
sits immediate left of W. S sits third to the right of X who sits immediate right of R. S and X
faces the same direction. Not more than two person faces the same directions are sit together.
R and T, not immediate neighbours

A sIfFaP, Q, R, S, T, U, V, W 3R X T JaThR A & 9RI 3T 38 8, Afeher s 181 o 3l
A gl m#wmw&zaﬁm%sﬁ?ﬂwaﬂwaﬁaﬁﬁmﬁm#% ) afaa 39&
AT TAT D RIS T U, v F e TN A R e v ik TH AT aFa s § Baa
HE Fg R a &1 et v AT AT, p 1 e TR w, P % a1 W Y T T
Fort BuFIAE THF TAFT R A IRE. Q, WHFSFTFdorE. s, X F e TN AT W)
o8, R F SF e T saﬁtxmwmﬁmaﬁraﬂw%lmﬁamﬁaﬁmma
¥ 3 ufFd v ary At 43 §| R 3T, Aeheaw w25 g !‘5«‘«;00 ‘
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Nine personsP,Q,R,S, T, U, V, W and X are
sitting around a circular table but not
necessarily in the same order. Some of
them are facing the center and the
remaining are facing opposite to the center.
All the persons are sitting at an equal
distance between them. U sits third to the
right V. Two person sits between U and T
who faces opposite to the center. Neither V
nor T is an immediate neighbour of P. W sits
second to the left of P who faces the same
direction as T. Q sits immediate left of W. S
sits third to the right of X who sits
immediate right of R. S and X faces the
same direction. Not more than two person
faces the same directions are sit together. R
and T, not immediate neighbours
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26. How many persons are sitting between X and P, when

counted from the left of P:.-’ PH I q I W X3 P&
7eq fraer cafea 33 &2

a) Two b) Four c) Three d) Five e) None of these

27. Who among the following sits third to the right of V?
ﬁmﬁﬁaﬁ#ﬁavﬂ:aﬁ#ﬁwwh%
a) Tb) W c) Qd) U e) None of these

28. Who is sitting adjacent to R?
R& e i daT g7
a) Xb) S c) Vd) Both (a) and (b) e) Both (a) and (c)
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w 29. Four of the following five pairs are alike in a certain way
based on the given arrangement and so form a group. Which
of the following ones does not belong to that group?

dl IE YIEYT & YR W FAefaf@a g & § 9/
S8 T e alie & A 8 3R v §Hg o
%lﬁmﬁﬁa##mww#mﬁaaﬁ%?
a) QU b) PV c) SQ d) RT e) WP

30. What is the position of Q with respect to R?

R% Hegdl #H QT T FIT 87

a) 3rd to the left b) 3rd to the right c) 5th to the left d) 2nd to
the right e) None of these
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Ten boxes namely—-P,Q,R,S, T, U, V, W, X, and Y are kept one above the other in a
stack but not necessarily in the same order. Box S is kept fourth from the bottom and
not kept adjacent to box U. Box adjacent to S is kept four places below T, which is kept
just below the box W. The number of boxes above W is one more than the number of
boxes below P. Two boxes are kept between P and Q. The number of boxes between Q
and T is one less than the number of boxes between Y and R. Box R and V are kept
together.

SHIFH ;U -P,Q,R,S, T, U, V, W, X, 3T Y I T & FUT T &I A TQT ATdT ¢ ol fohet
3ra€rﬁ:3'\=frmﬁg’nmsaﬁtsﬁ%#a‘tﬁv&mwmw%aﬁzmu%
fere AT TWT AT E 1 S & A< aTel 916 1 T W IR T A< QT AT 8, T a1
W & &1 S T@T AT ] W & FUT dTel diFd h AEIT 916 I §E&IT A T H A ¢
PHRaAI PIRQF AT A ITFIIW AT QIR TF AT FaFa A TEATY IRRF
1T & dTFg 1 TC&IT A U A | 9199 R 3 V 1 T G107 @1 AT R

!, L e
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Ten boxes namely-P,Q,R,S,T,U, V, W, X,
and Y are kept one above the other in a
stack but not necessarily in the same
order. Box S is kept fourth from the
bottom and not kept adjacent to box U.
Box adjacent to S is kept four places below
T, which is kept just below the box W. The
number of boxes above W is one more
than the number of boxes below P. Two
boxes are kept between P and Q. The
number of boxes between Q and T is one
less than the number of boxes between Y
and R. Box R and V are kept together.
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31. What is the position of the box Y with respect to S? S &
Hoel H f3ear YHT TAT FIAT 872

a) Three places above b) Immediate above c) Two places above
d) Immediate below e) None of these

32. How many boxes are kept between W and Q? W IR qQF
Aey fhds fBsd 1@ 91w 87

a) As many as between X and T. b) Three c) Four d) As many as
between Y and R. e) None of these

33. Which of the following statement is/are not true?
i@ & ¥ sia aUd a9 T a8 887

a) Three boxes are kept between V and T. b) Box Q is kept two
places above T. c) Box P is kept just below S. d) One box is kept
between W and Q. e) All of the above statements are not true.
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34. Find the odd out? faYH T 9dT ¥MT?
a) PSX b) QYT c) TRW d) YSQ e) VWR

35. Which of the following box is kept three places above Y?
frafaf@a & & <l a1 Bsar v & T Tuer 3w
IGT 14T g7

a) P b) Vc) S d)R e) None of these
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36. How many pairs of letters are there in the word “GERUNDER” each of
which has as many letters between them in the word as in the English
alphabetical series?

rs¢ "GERUNDER" & 378 & fhdel I3 §, Oed & v+ & &g 309
gl IR § a3l quiaATeT s[@ar 7 8§72

a) Three b) Two c) Four d) one e) More than four
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Person A is 7m west of Person C. Person B is 6m South of person F. Person E is 3m North of person
G and 2m west of person C. Person D is 8m North of person F who is 10m west of person A.

afed A IfFd cF 7# aRgw & &) <afFa B, afFa F& 6 gfdjor & g1 =FFa €
afed 6 & 3 3aX A § 3R afFa cF 2/ afaw F &1 =fFa pafead F& 8HY 3
ﬁ'%Sﬂ'oﬂi#a A% 10HT qRTA #%l

37. What is the shortest distance between D and E?
D 3T E&F ALY gada gt a1 87
a) 15m b) 20mc) 17md) 22me) 12m

38. What is the direction of G with respect to B?
B& Heed H GH foam +Far 87

a) Northwest b) Southeast c) West d) Southwest e) Northeast

39. Which of the following persons is in a straight line?
frafaf@a & @ a9 a1 =@fFa e @il ar JF 22
a) CEF b) AEG c) DBC d) AFB e) CED
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40. How many such numerals are there in the number ‘5687264493’ which will
remain at the same position when arranged in ascending order from right to left?

HEAT '5687264493' H ¥ fhast 31 § Sl ST & 1€ 3G HA & cgafeyd
a»‘{# W gAE Fufa & wae
a) 1b) 3 c) 2d) 4 e) None of these



http://www.mahendras.org/



http://www.mahendras.org/

